
Subject: vzctl snapshots vs ploop snapshots
Posted by non7top on Sat, 08 Nov 2014 09:47:49 GMT
View Forum Message <> Reply to Message

Can someone give more details about how vzctl snapshots and ploop snapshots work together?
Especially deleting and merging snapshots. I just stumled up sutiation when I have created
snapshots with vzctl, then merged them with ploop, but vzctl still shows them. How do I resolved
such condition? How do I merge snapshots with vzctl?

Here what I can see so far.
state1 - snap1 - state2 - snap2 - state3 (current state)

So vzctl only has snapshot delete function which deletes snapshot, if I delete snap2, then my VE
will return to state2 and state2 will become current and changes from state3 will be lost? I.e.
deleting snapshot reverts to previous state or merges two adjacent states discarding snapshot
With ploop it's more obvious that when I do ploop merge snap2, then state2 and state3 will be
merged, snap 2 removed and new current state will be state2+3. Then ploop merge snap1 and it
will merge state1 and state2+3 resulting in only one state, i.e. state3(or 1+2+3) becomes the only
state.
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